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CONSTRUCTION MANAGEMENT -1

PART-I

fratfa awa ; Y gz [t 3 : 30
Time allowed : %2 Hour] [Maximum Marks : 30

Fe . () v sfard & vd geiE geT 1 SmHEE |
Note : All Questions are compulsory and each question is of 1 mark.
(i) g e s g 1 Rl | siastt sar gt e &

Only English version is valid in case of difference in both the languages.

1. Mg uEyE § 39 faaa & 1.  General management encompasses all
R EIC o except
(a) T iy (a) Finance and accounting
(b) oFfeE AT (b) Strategic planning
(c) ot 3R fomqury (c) Sales and marketing

(d) U U 3R A1 Qe T oy (d) Developing a new product or

service
2. fasfaa wme davaw gisn 0 fefafaa 2. The following are the tools and
IUHOT T dFAS & Fqam T techniques in developed human
ST resource plan except :
@) e (a) Organization chart
(b) -eafen (b) Networking
(c) U g (c) Organizational theory
d) W SR =m » (d) Recognition and reward
3. YO W S AN TE 3. The main advantage of line
’ organisation is
(a) wWIET A 3R fE (a) Effective command and control
. . (b) Rigid discipline in the
(b) THA ¥ FHIA FRIEA organisation
(c) W Wi Wi Frofa Yt dwar (c) Ability of quick decision at all
levels
(d) FWF ol (d) All of the above

i) P.T.O.
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4. Y@ ERA F g whEl §
(a) A WL

(b) TR H STGTER
(c) Y aAfieh MY TR & Auwrt
(d) FWEaR

(a) fafwi = &t oo
(b) A R SRR WO W

JFHTIT
(c) M AeEg e faafa &
(d) IWHaA

i st o & ol as9
ARt AT I W ?
(@) &g

(b) Wit T X el FEE
(c) wfueRtor @1 wiaffy Auee
(d) FIWF R

fratafaa § € 99 0 3% Jum ° &
o i ¥ srfafyeaan = fealt @ o
i@ e W6 % IF § g9l e

2016

The main disadvantages of line

organisation is

(a) Rigid structure

(b) Extraordinary
communications

(c) Top level executions over work

(d) All the above

delay in

The salient features of functional
organisation are

(a) Strict adherence to
specifications

(b) Separation of planning and
design part

(c¢) Work is properly planned and
distributed

(d) All the above

The most popular type of
organisation  used for civil
engineering construction is

(a) Line organisation

(b) Line and staff organisation

(¢) Functional organisation

(d) Effective organisation

The main principles of an
organisation are

(a) Unity of command

(b) Effective control at all levels
(¢) Delegation of authority

(d) All the above

Which of the following contracts
should you use for projects that have
a degree of uncertainty and require a
large investment early in the project
life cycle ?

(a) Fixed price

(b) Cost reimbursable

(c) Lump sum

(d) Time and material



CC204

9.

10.

11.

12.

13.

T U IR ey ¥ e Bl S @
&, ot fafafea 4 @ =9 W =m W=
I USHE F1d § 7

(a) GIRR
(b) uRERAT TS
(c) URESHI y§YH
(d) <R

ST IR TSt a¥e 4 ufefya & &
P | UHR F Y TR & F9 F
+q Afgy I e 2

(a) freift gea

(b) THE TE g
(c) wat wfayfaary
(d) < SHfaie I

RIS T U IR0

(a) TS W fafem

(b) TS WIS H Y&EH

() US TARA I giawr & o
(d) THAIH! JErFAr W FET

ufegieTett &1 TF WE A 6wt
T |y ¥, F1 T Sa 2

(a) ORESHT HEEA
(b) 39K faw™
(c) Ul fequr® dauA
(d) SRHT yEE

;amﬁﬁwqa‘waﬁwgaﬁﬁmﬁw

0

(a) & fomg

(b) few & mias

(c) frepeu wel wieror fafdwil

(d) Ut IR i@ H Ul | F
5 390 IR T8 e

3

10.

11.

12.

13.

2016

When a project is being performed
under contract, the statement of work
1s provided by which of the following ?
(a) The buyer

(b) The project sponsor

(c) The project manager

(d) The contractor

What type of contract provides the
least amount of risk for the buyer
when the project is well defined ?

(a) Fixed price

(b) Time and material
(c) Cost reimbursable
(d) Cost plus fee

An example of a project is

(a) Billing customers

(b) Managing an organisation

(¢) Constructing
facility

(d) Providing technical support

a building or

What is the term used to describe a
group of projects that are managed in
a coordinated way ?

(a) Project management

(b) Product development

(c) Project stakeholder management
(d) Program management

A project manager has ultimate

responsibility for the following :

(a) Team development

(b) Risk owners

(c¢) Design and test specifications

(d) Ensuring no project change
once the project is approved

P.T.O.
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14.

15.

16.

17.

18.

19.

ofEer gl # Y@ Y w98
fepar = W 7 2

() INIAL

(b) HFRA WL

(c) Ul S Fead e

(d) IWF R

& FH FH F ol Iueie GRY 3R UF
T $ HH F ol fom T g F
=T I T FeT STl € 2

(a) we (b) WA
(c) 3@ (d s

sHiferer Tiraty & gk &
(a) s vl
(b) A FAIE
(© ¥IAFIE
(d) T qHE T

s nfafafy & 9or A [ @S
THdl & St T oM = it &
it 8l Sl &, 39 I e
ST E

(a) Mty (b) FA T
(c) TR  (d) =R
ush URESH i qUf HA At U il
a9 1 Jeaeh ufaffee war &

(a) =Fq" I

(b) STy g

(c) Aiywaw arE

(d) A" AT

F 2a% 0 sl nfafafuat =ite st
T

(a) TR & arelt fafafy
(b) ¥ srafy # wfafafy
(c) aifea niafafy
(d) ZEawA nfafafy

C)

14,

13.

16.

17.

18.

19.

2016

The project schedule may be

presented graphically as a

(a) Bar chart

(b) Milestone chart

(¢) Project schedule
diagram

(d) All of the above

network

The difference between the time
available to do the job and the time
required to do the job is known as

(a) Event (b) Float
(¢) Duration (d) Constraint

The critical activity has
(a) Maximum float
(b) Minimum float
(c) Zero float

(d) None of these

The duration of time by which the
completion time of an activity can be
delayed without affecting the start of
succeeding activities, is called as

(a) Duration

(b) Total float

(c) Free float

(d) Interfering float

For completion of a project, the
critical path of the network represents

(a) minimum time
(b) maximum time
(c) maximum cost
(d) minimum cost

Dummy activities in a network refers
to

(a) Frequently occurring activity
(b) Activity of zero duration
(c) Unwanted activity

(d) Timestone activity
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20. g TR & ford i wg & adH 20. The critical path method is used to
forg T TR B g 2 construct network based on
(a) AW (a) Events
(b) Tiafafet (b) Activities
(¢) A (c) Both
(d) (d) None
21. Prafafga & ¥ i whenr @@ &% 21. All of the following are the input to
HTHHA Sl Y ¢ foara @& estimate cost process except :
(a) SUEH AER @ (a) Scope baseline
(b) TS T AT (b) Human resource plan
(c) = (¢) Contract
(d) uREsET SRl (d) Project schedule
22, darE B R F w9 H Hh qrﬁ—q,—d 22. Resources can be classified in MPP as
fopa = ‘HEBHT g7 (a) Work & Money
(@) w1 T ﬂm (b) Material & Money
(b) W e A .
© w, AT o (c) Work, Material & Cost
@ S Ue TR (d) Men & Machines
23, ufiaer ¥ fT GareEl @t SaeTeRT B 23. Resource availability for the project
YA T A S GEA L2 can be given in dialog box
(2) T B AABRY (a) Task information
(b) SRR B TR (b) Assignment information
(c) TRty B TSR (c) Activity information
(d) TEH B STEER (d) Resource information
24, UH GEHEA B 3@ T aw aa & an 24. Over-allocation for a resource can be
5 T A ¥ found using
(a) HEnH e (a) Resource sheet
(b) EEEA T (b) Resource pool
(c) wEEA (¢) Resource
(d) Haw T H G ] STEE d) lI){(::source Information Dialog
X
25. G2 fovainor sraia § 25. PERT analysis is based on
(a) Ta¥ afus dwifed w9 (@) Most likely time
) et T (b) Pessimistic time
(c) IeER ¥HT () Optimistic time
(d) @i (d Al

P.T.O.
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26.

27.

28.

29.

30.

Jeaeh faveiur St U¢ aeHs e HM
e &

(a) B afEEE

(b) R sifest wREA

@ e N
(d) Fruironcers nfafatEr

T IO % STER G U GRS &
YT AT &

(a) AW (b) SAuEad

© = (d 3

REET T & S A @ aftomy gar

T

(@) YIS TN H WA UG ITHHE
AN & S |

(b) VT W W G UH AU
ST G |

(c) UEY UH AWy AW JHT
G |

(d) TN UH AW SN Al @l
T |

qfteriT  Iirer ST 3R Aty a1

5 @ QIS S 6t ufshar i e il

€

(a) HEEA wAafer

(b) T TG

(c) STIAHEHIO

(d) shifeer Tot 2rgfaaRT

W Sdtem |

(a) ;&ﬁwﬁwmﬁ:mﬁmﬁ
|
(b) Ul # P aty 9 ST |
(c) WARAT & UHAHA W WA B
STl ¥ 1
(d) ;ﬁﬁﬁmﬁmﬁaﬁaﬁm
|

26.

27.

28.

29.

30.

2016

PERT technique of network analysis

in mainly used for

(a) Small projects

(b) Large and complex project

(c) Research and development
projects

(d) Deterministic activities

The direct cost of a project with
respect to normal time is

(a) Minimum b)
(c) Zero (d

Maximum
Infinite

The reduction
normally results in

in project time

(a) decreasing the direct cost and
increasing indirect cost.

(b) increasing the direct cost and
decreasing the indirect cost.

(c) increasing the direct cost and
indirect cost both.

(d) decreasing the direct cost and
indirect cost both.

The process of incorporating changes
and rescheduling or replanning is
called

(a) resource levelling

(b) resource smoothening
(c) updating

(d) critical path scheduling

In resource levelling

(a) total duration of project is
reduced.

(b) total duration of project is
increased .

(¢) uniform demand of resources is

achieved.
(d) cost of project is controlled.
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CONSTRUCTION MANAGEMENT -1

PART-1I

fratfiq e @ ET ] [afrEmad A% : 70

Time allowed : Three Hours] [Maximum Marks : 70

. () ey afard & a4 @ e ule @& g Al

Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(ii) Ul TeT & @i TP FHAR U GTeT & BT |

Solve all parts of a question consecutively together.

(iii) T 5o & T 7S & IR FIT |

Start each question on a fresh page.
(iv) 2 arrar F =T gl # Refey & sigtt sgaT & A 2
Only English version is valid in case of difference in both the languages.
1. =t 990 | 9EmE

Explain the following in brief :

@ A
B.O.T.
() SRR T
Optimum cost
(iii) GRem ufereITy
Safety training
(iv) A
Organisation
(v) & Aoy i
Contract Labour Act (2%x35)

) P.T.O.



CC204
2. @)
(i)
3. @)
(i1)
4 @
(i)
5. ()
(i)
6. ()
(i)
7. @)
(i1)
8. (i)
(i)

@) 2016
foyuior yeme | 319 R UNSW € 2 ! STaRaaIa w wesy |

What do you mean by Construction Management ? Explain its necessity.
I & IR H TAeTeR U1 39 ITIT T A Serergd |
Write about scheduling. Write uses and advantages of scheduling. (6+6)

& 3 afonfva FifR qon sE Tew B faaR | Sy |

Define PERT and give its significance in detail.

Tl F4T € 7 T U Tl o STl Sy |

What is float ? Differentiate between float and slack. (6+6)

G ey v GO gEdeH & R d HAMER Saersd |

Discuss the resource smoothening and resource levelling step by step.

femior ot 3 e ot wew @@ § 2 WHT § Saensd |

What is the importance of safety in a construction project ? Discuss briefly.  (6+6)

W %y Tagral @l faar @ gaened |
Explain in detail the basic principles of organisation.

it = wn ¥ 0 o v ) mafaa FA e Tew B e |
What is job layout ? Explain the factors which influences the job layout. (6+6)

GRERT STerhrl § 99 AT e H Aty aneEd |
Explain the method of time cost optimization of a project network.
THTi-creh U o1 € 7 ST HA FIaiRer el € 9 39k T[0T TR |

What is a critical path ? How it is determined ? Explain its properties. (6+6)

o hedTur § 41 S ¥ 2 iyl ! heaoT fam & AR St S el gl %
IR H TAAA |

What is meant by labour welfare ? Discuss the facilities to be provided to
workers under the welfare law.

STEIH Y WHSSA AT TR ST T4 8 2
What is updating and why it is necessary ? (6+6)

fafir=r Fmior S =t |t & TwEST |
Explain the different “construction contracts” in brief.
fmtor g1 o fafv=r Iet & St qur S o Ty & JEned |

Explain functions of different groups of construction team and their inter
relationship. (6+6)



